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4 - 9. then the arcas of the
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- two simular trniangles are in the ratio

.
 are in the ratio

% “

=

el II‘“ TN TFFMT 4 - 9 o F-!QH "lm siferd ETS 23

: “ﬁ‘?9u\9mmaﬁﬁd¢ﬁ'amamzrq

= |




Area of a sector of angle P(in degrees) of a circle with radius R s
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once, the probability of getting a prime number 1S
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12. Three mesallic spheres of radii & em. 8 cm and 10 cm respectively are
melted to form a single solid sphere. The radius of the resulting sphere 15
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18, /A box contains 3 blue; 2 white and 4 red marbles. If a marble is drawn at
' random from the box, what iz lhﬁ_'pm__lf.}ahilit}r that it will be white !
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123, If the following quadralic equation has two equal roots, then find the value
N 3

T W 55T ST B, 90 kd N fAD @

ers, sum of whose squares is 365.




25,

i ij'

If:a line intersects sides AR and AC of 5 AABC m Dand E r:ﬁpﬂct!‘-'fﬂ!r' and

AR AE

liel
:apa.ra to BC, Prove that =—— AR AC

AF G R AARC 4 AB T AC a9 = D W E s o 1 5

&b AE
mﬁlﬁﬂtiﬂﬁmﬂ OO SR ) o AB = AC

ABC fagcsm BC d/ms Sersa oo co O AB 9% AC T2 F0 D ast

A
Eﬁﬂwm T ﬂﬂrrwf ig AC

B15-A




Section - D
S gle gets reduced by 9 square units, if its length s
S units and breadth 15 increased by 3 units. If we increase the
:: J:’ d breadth by 2 units the arca is increased by 67 squarc
and breadth of the rectangle.
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Prove that the lengths of tangents drawn from an external point to a circle

are equal. Rl [1
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Section - E
p well with diameter 7 m is dug and the earth from digging is

: L* to form a platform 22 m by 14 m. Find the height of the
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34 The marks ohtained by 30 students of Class X of a certain school in @
Mathematics paper consisting of 100 marks are presented in table below.
Find the mean of the marks obtained by the students.
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